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1. [5 Marks] Use a combination of the rules for exponents to simplify the expression. Write answer with
only positive exponents.
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2. [5 Marks] Simplify the expression, 4‘}’_+R] -2 5~ Si(“:M

3. {5 Marks] Rationatize the denominator and simplify. —=—2
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17. [5 Marks] Find the distance between the two houses.
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18. {5 Marks] Sketch the graph of y = ~3sin(3x) for-x <x < =
19. [5 Marks] Verify the following identity.
sin(4 + B) +sin(4 — B) = 2sindcosB
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Answers

1. 2048x3y2

9 dx—x4+3

= xl-6x-16

3.5 -7

b x=1y=-2 '
S.x=3J5 -3 = 1.8541
6. {x = 0}, {x = 3}

7.-4 <x<6.5
8.x=3+2J5, x=3-2/5
y = 3x . 9

Dy= 2 + 2

10. 2x
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